
Name: LösungsschlüsselMultiplikation mit Dezimalen (vertikal)

Mathe www.CommonCoreSheets.de 3 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Antworten

1. 222,12

2. 324,120

3. 3,96

4. 490,82

5. 365,700

6. 41,36

7. 247,36

8. 315,576

9. 17,50

10. 297,92

11. 87,986

12. 25,60

Löse jede Aufgabe.

1) 61,7

• 3,6

3702

+ 18510

222,12

2) 54,02

• 6,0

0
+ 324120

324,120

3) 3,6

• 1,1

36

+ 360

3,96

4) 50,6

• 9,7

3542

+ 45540

490,82

5) 39,75

• 9,2

7950

+ 357750

365,700

6) 4,4

• 9,4

176

+ 3960

41,36

7) 77,3

• 3,2

1546

+ 23190

247,36

8) 58,44

• 5,4

23376

+ 292200

315,576

9) 5,0

• 3,5

250

+ 1500

17,50

10) 60,8

• 4,9

5472

+ 24320

297,92

11) 11,89

• 7,4

4756

+ 83230

87,986

12) 8,0

• 3,2

160

+ 2400

25,60
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0



Name: LösungsschlüsselMultiplikation mit Dezimalen (vertikal)

Mathe www.CommonCoreSheets.de
Geändert 3

Löse jede Aufgabe.

17,50 41,36 247,36

365,700 490,82 222,12

315,576 324,120 3,96

1) 61,7

• 3,6

3702

+ 18510

222,12

2) 54,02

• 6,0

0
+ 324120

324,120

3) 3,6

• 1,1

36

+ 360

3,96

4) 50,6

• 9,7

3542

+ 45540

490,82

5) 39,75

• 9,2

7950

+ 357750

365,700

6) 4,4

• 9,4

176

+ 3960

41,36

7) 77,3

• 3,2

1546

+ 23190

247,36

8) 58,44

• 5,4
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+ 292200
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• 3,5

250
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Antworten

1. 222,12

2. 324,120

3. 3,96

4. 490,82

5. 365,700

6. 41,36

7. 247,36

8. 315,576

9. 17,50

1-9 89 78 67 56 44 33 22 11 0
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